



PURCHASE REQUEST

Dept./Office: OHIGP PR No.: STF-2022-09-01469 Date: 09-07-2022

Section/End-User: Marvin B. Bandalan Category: Sports Supplies

Funding Source: Special Trust Fund Project Title/Code: Intramural 2022

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Aluminum Baseball Bat	pc	4	3,000,00		12,000,00

Specification:

- End cap
- · Built from AZR aluminum alloy
- Speed design
- · Length (in.): 32-inch handle is outfitted with an All-Sports grip
- Type: Slow Pitch
- Barrel diameter (in.):2 5/8"
- Product Type: Slow Pitch
- Bat Certification: Approved by ISF
- Bat Material: Aluminum
- · Age Group: Adults'
- Activity: Baseball
- Multi-variable wall design
- Tightened production tolerances
- Patent pending Liquid-Gel anti-vibration knob
- Micro-perforated soft-touch grip
- · Ring-free barrel construction
- · Ergonomically designed handle taper for each weight drop

_					
2	Aluminum Softball Bat	рс	4	3,000.00	12,000.00

Specification:

- End cap
- · Built from sturdy aluminum alloy
- Speed design
- · Length (in.): 29/32-inch handle is outfitted with an All-Sports grip
- Type: Slow Pitch
- Barrel diameter (in.): 2 1/4"
- Product Type: Slow Pitch
- Bat Certification: Approved by ISF
- Bat Material: Aluminum
- Manufacturer warranty labor: 1 year
- · Age Group: Adults'

	Badminton Rubber Grips	po	s	10	80.00	800.00		
	Specification:							
	 Anti-slip, absorb. 							
	Amplified traction.							
	Perforated design.							
	Tapered starting end.							
1	Badminton Strings (BG65)	bt		5	450.00	2,250.00		
	Specification:							
	Core: High Polymer Nylon Multifilan	nent						
	Gauge: 0.7mm	par ·						
	Outer: Special Braided High Polyme	er Nylor Fi	ber					
5	Badminton Towel Grips	рс	s	10	120.00	1,200.00		
_	Specification:		_					
	• Made of super sweet should			1 -1				
	 Made of super sweat absorb Antisepsis, deodorization and 			elastic.				
	 Size:65 X 2.6 X 0.7cm / 25.6 			inch				
73. 500.0	5120.00 X 2.0 X 0.7 GH7 25.0	3 X1.02 X	0.21	mich.				
6	Ball, Basketball, G7, Specification:	po		4	2,500.00	10,000.00		
4	 Nylon wound butyl bladder. Construction: Laminated. Offical size and weight. For indoor use only. Size:7 							
	Comes inflated directly from the factory.							
7	Ball, Basketball, GG6x, size 6		_	6	2,500.00	45,000,00		
_	Specification:	po		0	2,500.00	15,000.00		
	FIBA Approved premium cor		athe	r		•		
	Signature patented 12-pane	l design.						
	Nylon wound butyl bladder.							
	 Construction: Laminated. Offical size and weight. 							
	For indoor use only.							
	• Size: 6							
	Comes inflated directly from	the factor	v .					
	· · · · · · · · · · · · · · · · · · ·							
_	Ball, Table Tennis, 40+, Polyball	box	es	10	300.00	3,000.00		
				The second				

	Product: Premium Clean 40+ ***				
	Type: with seam				
	Stamp color 1: Black				
	Stamp color 2: Red				
	Color: White			Andrew Company of the	
9	Basketball Coaching Board	рс	2	500.00	1,000.0
	Specification:				
	• Size: 46 x 30cm				
	Material: Aluminum				
	Magentic Board and 14 button w	ith non			
	This is a removable, reversible d	Marie Control	ackethall co	urt board	
	This is a removable, reversible of	ily-clase b	asketball co	uit boaiu	
0	Home Plate, Softball/Baseball, White Hard Rubber, Official	pc	4	1,000.00	4,000.0
	Specification:				24
	Rubber Home Plate				
	Waffle bottom				
	Throw down style plate				
				8	
	Chrome	and softbal			
	Chrome Official home plate for baseball a				
	 Chrome Official home plate for baseball a Solid white rubber with black bet				
	 Chrome Official home plate for baseball a Solid white rubber with black bet 16"L x 17"W x 1"H 				
	 Chrome Official home plate for baseball a Solid white rubber with black bev 16"L x 17"W x 1"H Includes 5 spikes 				
	 Chrome Official home plate for baseball a Solid white rubber with black bet 16"L x 17"W x 1"H 				
	 Chrome Official home plate for baseball a Solid white rubber with black bev 16"L x 17"W x 1"H Includes 5 spikes 				
	 Chrome Official home plate for baseball a Solid white rubber with black bev 16"L x 17"W x 1"H Includes 5 spikes 				
	Chrome Official home plate for baseball a Solid white rubber with black bet 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs				
1	Chrome Official home plate for baseball a Solid white rubber with black bet 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs Pitchers Plate, Softball/Baseball,			1,000.00	4,000.0
1	Chrome Official home plate for baseball a Solid white rubber with black bet 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs	veled edge	s for safety	1,000.00	4,000.0
1	Chrome Official home plate for baseball a Solid white rubber with black bet 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs Pitchers Plate, Softball/Baseball, White Hard Rubber, Official Specification:	veled edge	s for safety	1,000.00	4,000.0
1	Chrome Official home plate for baseball a Solid white rubber with black bet 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs Pitchers Plate, Softball/Baseball, White Hard Rubber, Official	veled edge	s for safety	1,000.00	4,000.0
1	Chrome Official home plate for baseball a Solid white rubber with black bet 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs Pitchers Plate, Softball/Baseball, White Hard Rubber, Official Specification:	veled edge	s for safety	1,000.00	4,000.0
1	Chrome Official home plate for baseball at Solid white rubber with black bevenue. The solid white rubber with black bevenue. The solid white rubber with black bevenue. The solid white s	veled edge	s for safety	1,000.00	4,000.0
1	Chrome Official home plate for baseball at Solid white rubber with black beven 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs Pitchers Plate, Softball/Baseball, White Hard Rubber, Official Specification: Colour White Item weight 8 Pounds Sport Baseball	veled edge	s for safety	1,000.00	4,000.0
1	Chrome Official home plate for baseball at Solid white rubber with black bevenue 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs Pitchers Plate, Softball/Baseball, White Hard Rubber, Official Specification: Colour White Item weight 8 Pounds Sport Baseball For use in baseball and softball	veled edge	s for safety	1,000.00	4,000.0
1	Chrome Official home plate for baseball at Solid white rubber with black bevenue. Includes 5 spikes Weight: 10 lbs Pitchers Plate, Softball/Baseball, White Hard Rubber, Official Specification: Colour White Item weight 8 Pounds Sport Baseball For use in baseball and softball Solid white molded rubber	veled edge	s for safety	1,000.00	4,000.0
1	Chrome Official home plate for baseball at Solid white rubber with black bevenue of 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs Pitchers Plate, Softball/Baseball, White Hard Rubber, Official Specification: Colour White Item weight 8 Pounds Sport Baseball For use in baseball and softball Solid white molded rubber HEAVY DUTY	pc	s for safety	1,000.00	4,000.0
1	Chrome Official home plate for baseball at Solid white rubber with black beven to 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs Pitchers Plate, Softball/Baseball, White Hard Rubber, Official Specification: Colour White Item weight 8 Pounds Sport Baseball For use in baseball and softball Solid white molded rubber HEAVY DUTY Includes 2 Removable Metal Spi	pc .	s for safety	1,000.00	4,000.0
1	Chrome Official home plate for baseball at Solid white rubber with black bevenue of 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs Pitchers Plate, Softball/Baseball, White Hard Rubber, Official Specification: Colour White Item weight 8 Pounds Sport Baseball For use in baseball and softball Solid white molded rubber HEAVY DUTY	pc .	s for safety	1,000.00	4,000.0
	Chrome Official home plate for baseball at Solid white rubber with black beven to 16"L x 17"W x 1"H Includes 5 spikes Weight: 10 lbs Pitchers Plate, Softball/Baseball, White Hard Rubber, Official Specification: Colour White Item weight 8 Pounds Sport Baseball For use in baseball and softball Solid white molded rubber HEAVY DUTY Includes 2 Removable Metal Spi	pc .	s for safety	1,000.00	4,000.0

Head Material: Two Layer natural cork **BWF Approved** Table Tennis Foam Cleaner and 13 4 pcs 400.00 1,600.00 spray Specification: Product: Table Tennis Racket Cleaner (Rubber Spray) Ingredients: cleaning liquid VOC Free 125ml 14 Table Tennis Foam Wiper pc 4 250.00 1,000.00 Specification: -Double Sided High Quality Durable -Small rectangular sponge that comes in a case 15 Table Tennis Rubber Glue рс 4 400.00 1,600.00 Specification: Item Package Dimensions L x W x H $?6.7 \times 4 \times 0.7$ inches Package Weight ?0.25 Pounds Item Dimensions LxWxH ?6.69 x 4.02 x 0.71 inches Item Weight ?0.24 Pounds **Brand Name** Color ?White Material ?Rubber **Suggested Users Number of Items** Manufacturer **Part Number** ?8221 **Model Year** ?2016 Size ?90ml **Sport Type** ?Table Tennis TABLE TENNIS GLUE: · EASY TO APPLY: · EASY TO REMOVE: 100% liquidized natural caoutchouc 16 Volleybal Antennae, Standard Size pcs 4 500.00 2,000.00 Specification: Made of fiberglass Features clamps that attach to both the top and bottom of net. Clamps can be replaced or repaired if damaged

		atented design fits both 36") Red and White colored A				
17	Volleyba Quality	ll Kneepads, Good	рс	20	500.00	10,000.00
	60 percen 7.5-inch s have ana unisex	ion: knee pads t polyester, 26 percent visc leeve height tomical flex zones for ma				
18	Volleybal	l Loop Bands	рс	6	700.00	4,200.00
19		atex Resistance Loop Ban I Net with Cable, Size	ds Set	10	2,500.00	25,000.00
	• Sq • Vir • Ne	e Match Standard Volleyba th and cotton rope uare mesh with 10 x 10cm	size. All Side Top The Bord or: Black	of This Volle		constructed with high quality nylon Inches Wide)
		TOTAL				125,650.00
Purp	ose: For I	ntramural 2022				
Chec	cked by:	LYNDON L. MAN				IA M. FLORES
		TWG - Sports Su		oted by:	HEAD, E	Approved by:
_	Requested by: rinted Name: MARVIN B BANDALAN				CHARIS B. LIMBO	Approved by: DESCIPENT VOLUME